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1m = 100cm
24 1m? = 1m X 1m = 100cm X 100cm
= 10000cm? YUYt
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O 0.001km? @ 10ha @100a

@ 100000m? ® 1000000cm?
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= 100m x 100m = 10000m?
10000m? = 100a = 1ha = 0.01km?
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(8 +14) x 9 + 2 = 99(m?)
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1t = 1000 kg = 1000000 g ©| 2.2
0.9t = 900kg = 900000 g
— 900000 + 900 = 900900
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= 280 x 150 = 42000( m?) = 420a = 4.2 ha
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® 240a =2.4ha @170000 m?=17a
® 0.2km? = 20 ha @ 5.9ha = 59000 m?

® 35000a = 3.5km?

@ 170000 m? = 1700 a
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® 100m? @10000a @ 0.1km?
@ 1ha ® 10m x 100m
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@ 100m?

@ 10000a = 1000000 m?

® 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?
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AA] F5HA 2.

Z3taF (kg ) | 890 | 759

594

it
|

vV V¥

Hehl 2916 ¢

890 + 759 + 673 4+ 594 = 2916( kg)
— 2.916t
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[> ' 26kg

6.5t = 6500 kg
Sk AFAFO] B 6500 + 250 = 26( kg)
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1440000 = 1800 = 800( cm) = 8( m)
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@ 590kg ©4t
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A. 590kg

©. 4000 kg

©. 800kg

@. 570kg
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8t = 8000kg,
8000 — 3500 = 4500( kg)




14. ©hg 29T gL o] gUth @ HET O ¥
9 ha g7

520 yol9] At

/j—[L/,—SSOm\\\
! / L]
I / \
/ \
ey \
420m / '
370m
‘\ // @ 1
\ / I
\ / I
v/ /
7] )
TT--540m---"
> E ha

160m_

p 50m
/ £ T==380m- "
| / \

420 2 :
m /
370m

l‘ I/ @ ;
\ ! !
V| !
[/ /

7 )

TT--540m---"

(380 + 540) X 370 = 2 — (50 + 420) X 160 + 2

170200 — 37600 = 132600( m?) = 13.26( ha)
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la 2] FAE % kg AU7H?
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=90 x 40 + 2 = 1800m? = 18a
25.2t = 25200kg

1a2] F7| = 25200 + 18 = 1400kg




